
Class:Class 3 Subject: Maths Topic:Division

S.No Question Answer Options

1

There are 32 cookies on a 
plate for 9 children. If each 
child ate the same number 
of whole cookies , how many 
whole cookies did each child 
eat?

4

5

3

2

4

5

3

2

2
A number which ends with 
an even number is always 
divisible by __________.

4

5

6

2

4

5

6

2
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3
If the divisor is 9, quotient is 
24 and the remainder is 2, 
what is the dividend?

216

220

218

221

216

220

218

221

4 Find the Remainder : 789 ÷ 
2 = ____________

Answer
____________

Answer
____________

5 Find the Quotient : 263 ÷ 4 
= ____________

Answer
____________

Answer
____________
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Correct Answer is
1. Correct Ans option is 3
2. Correct Ans option is 2
3. Correct Ans option is 218
4. Correct Answer is 1
5. Correct Answer is 65
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